

page 54:

$$1) \frac{\partial M}{\partial y} - \frac{\partial N}{\partial x} = 4$$

$$\frac{1}{N} \left(\frac{\partial M}{\partial y} - \frac{\partial N}{\partial x} \right) = \frac{4}{x} = h(x)$$

$$M(x) = \int \frac{4}{x} dx = 4 \ln x = 4 \ln x \quad \frac{4}{x} = x^{-1}$$

ف.ف = $e^{\int \frac{4}{x} dx} = e^{4 \ln x} = e^{\ln x^4} = x^4$

في الحل الثاني... \rightarrow x^4

Another solution: $(x^5 + 3y) dx - x dy = 0$

$$(x^5 + 3y) dx = x dy$$

$$\frac{x^5 + 3y}{x} = \frac{dy}{dx}$$

$$x^4 + \frac{3}{x} y = y' \quad \text{Linear: } y' + p(x)y = q(x)$$

$$x^4 = y' - \frac{3}{x} y \quad \text{Linear ... (*)}$$

$$\int p(x) dx = \int -\frac{3}{x} dx = -3 \ln x$$

$$u = e^{-3 \ln x} = e^{\ln x^{-3}} = x^{-3}$$

(*) في الحل الثاني...

$$x = x^{-3} y' - 3x^{-4} y$$

$$y = e^{-\int p(x) dx} \left[\int \frac{f(x) dx}{e^{-\int p(x) dx}} + C \right]$$

$$= e^{-\int -\frac{3}{x} dx} \left[\int \frac{x^4 dx}{e^{-\int -\frac{3}{x} dx}} + C \right]$$

$$= e^{3 \ln x} \left[\int \frac{x^4 dx}{x^{-3}} + C \right]$$

$$y = x^3 \left[\int x^{-3} \cdot x^4 dx + C \right]$$

$$y = x^3 \left[\int x dx + C \right]$$

$$= x^3 \left[\frac{x^2}{2} + C \right]$$

$$y = \frac{x^5}{2} + Cx^3$$

g) Linear: $p(x) = \frac{x}{1+x^2}$, $q(x) = \frac{x}{1+x^2}$

$$y = e^{-\int \frac{x}{1+x^2} dx} \left[\int \frac{x}{1+x^2} dx \cdot e^{\int \frac{x}{1+x^2} dx} + C \right]$$

$$= e^{-\frac{1}{2} \ln(1+x^2)} \left[\int \frac{1}{2} \ln(1+x^2) \cdot \frac{x}{1+x^2} dx + C \right]$$

$$y = \frac{1}{\sqrt{1+x^2}} \left[\int \sqrt{1+x^2} \cdot \frac{x}{1+x^2} dx + C \right]$$

$$y = \frac{1}{\sqrt{1+x^2}} \left[\int \frac{x}{\sqrt{1+x^2}} dx + C \right]$$

$$y = \frac{1}{\sqrt{1+x^2}} \left[\frac{1}{2} \int 2x(1+x^2)^{-\frac{1}{2}} dx + C \right]$$

$$= \frac{1}{\sqrt{1+x^2}} \left[\frac{1}{2} \frac{(1+x^2)^{\frac{1}{2}}}{\frac{1}{2}} + C \right]$$

$$y = \frac{1}{\sqrt{1+x^2}} \left[\sqrt{1+x^2} + C \right]$$

$$y = 1 + \frac{C}{\sqrt{1+x^2}}$$